DETAIL A

TYPICAL ALL
PLATFORM TO PLATFORM
CONNECTIONS

DETAIL B

TYPICAL ALL
LEG CONNECTIONS

X4

()

PARTS LIST
ITEM[ QTY ] PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.
1 | 3 | x-MEP46 4' X 6' MODULAR EQUIPMENT RACK BASE 289.22 867.65
2 | 3 | x-mEP44 4' X 4' MODULAR EQUIPMENT PLATFORM BASE 201.72 605.16
3 | 77 | G58134 5/8" x 1-3/4" HDG BOLT 13/4in 0.27 20.70
4 | 58 | GssFw 5/8" HDG USS FLATWASHER 118 in 0.07 4.09
5 | 77 | Gs8LW 5/8" HDG LOCKWASHER 0.03 2.01
6 | 77 | G58NUT 5/8" HDG HEAVY 2H HEX NUT 0.13 10.00
7 | 12 | x-mpADL MODULAR PLATFORM FOOTPAD LARGE 33.38 400.58
8 | 12 | GIR12 1" x 12" THREADED ROD (HDG.) 12in 2.68 32.12
9 | 24 GILW 1" LOCK WASHER 0.09 2.27
DETAIL C 10 | 48 | GINUT 1" HDG HEAVY HEX NUT 0.47 22.58
11 | 4 | x-MRAIL4 4" HANDRAIL WELDMENT FOR MODULAR EQUIPMENT PLATFORM 60.49 241.94
TYPICAL ALL 12 | 4 | X-MRAIL6 | 6'HANDRAIL WELDMENT FOR MODULAR EQUIPMENT PLATFORM HANDRAIL 102.43 409.73
HANDRAIL TO PLATFORM 13 | 1 X-MAW MODULAR EQUIPMENT PLATFORM ACCESS WELDMENT 53.54 53.54
CONNECTIONS 14 | 5 X-MTRS MODULAR TOP RAIL STRAIGHT SPLICE 1.88 9.39
15 | 10 | X-MKPS MODULAR KICKER PLATE STRAIGHT SPLICE 65/16in 1.86 18.59
4 X-MTRC MODULAR TOP RAIL CORNER SPLICE 1.25 5.02
8 X-MKPC MODULAR KICKER PLATE CORNER SPLICE 4in 1.66 13.25
2 X-MRH MODULAR RAMP HINGE 10.61 21.22
1 | x-MRAMP5 5' MODULAR PLATFORM RAMP WELDMENT 132.59 132.59
2 X-MRHP MODULAR RAMP HINGE PIN 4.07 8.14
4 CP181 COTTER PIN 0.01 0.02
TOTALWT. #| 2873.00

BENDS ARE t 1/2 DEGREE

A _[REVISED LEG POSITION

| [cex] 4/11/2016

DETAIL D DETAIL E
TYPICAL ALL TYPICAL ALL
CORNER HANDRAIL
CONNECTIONS STRAIGHT HANDRAIL
CONNECTIONS DETAIL G

TOLERANCE NOTES DESCRIPTION N fors:
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 10" X 12’ % 1 Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (£ 0.030") MODULAR EQUIPMENT PLATFORM Support Team: I';?s An%zleli‘, cA
DRILLED AND GAS GUT HOLES (# 0.030") - NO CONING OF HOLES WITH LARGE FOOTPADS : 1-888-753-7446  Flymouth,
LASER CUT EDGES AND HOLES (% 0.070") - NO CONING OF HOLES A valmont Y covey Dallas, TX

REV |

DESCRIPTION OF REVISIONS

[ cpD [ BY |

DATE

REVISION HISTORY

ALL OTHER MACHINING #0‘0307 CPD NO. DRAWN BY ENG. APPROVAL PART NO.
ALL OTHER ASSEMBLY (% 0.060") CEK  3/30/2016 MEP1012-6LH44R5
PROPRIET mnwl:. INTHIS DRAWING VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO.
NDUSTRIES AND CONSIDERED A TRADE SECRET. o | 81|01 CUSTOMER BMC  4/7/2016 MEP1012-6LH44R5

€40 |
39vd




o of

op

% 13" TO 18-1/2"

[@—52" TO 58-3/4" —————=

o[fe

42"

TOLERANCE NOTES

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (# 0.030%)

DRILLED AND GAS CUT HOLES (# 0.030") - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (# 0.070") - NO CONING OF HOLES
BENDS ARE t 1/2 DEGREE

ALL OTHER MACHINING (% 0.030")

DESCRIPTION

10'X 12

MODULAR EQUIPMENT PLATFORM
WITH LARGE FOOTPADS

Locations:
New York, NY

Engineering Atlanta, GA
Support Team:

1-888-753-7446

A valmontvm

Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

CPD NO.

DRAWN BY

ENG. APPROVAL

PART NO.

2 | REVISED LEG POSITION | | CEK | 4172016 e #0.060'7 CLASS| suB SQEAV':ING Ugllkigl201 6 CHECKED BY DWG. NO M EP1 01 2-6LH44R5
REV DESCRIPTION OF REVISIONS CPD | BY DATE i DRAWING - MO
! REVISION HISTORY Lcro | ov] LTI D CONSDERED A TRADESEGRET aror | 81| 01| CUSTOMER |BMC  4/7/2016 MEP1012-6LH44R5

VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

€40 ¢
39vd




144"

48" 48" 48"
. A K AN 1A . N
_ 1 .
48"
48"
K 2
S 1. .
120"
651/2" k- 79m
S |, .
0 0 A ° o 0 ™ 0
|-—41 1/2"—4‘ 48"4-|
48" —
T g ¥
351/2"
TOLERANCE NOTES DESCRIPTION N fors:
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 10" X 12’ 1 Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (# 0.030") MODULAR EQUIPMENT PLATFORM Support Team:  Los Angeles, CA
DRILLED AND GAS CUT HOLES (£0.030") - NO CONING OF HOLES WITH LARGE FOOTPADS . 1-888-753-7446  Plymouth, IN
LASER CUT EDGES AND HOLES (£ 0.070%) - NO CONING OF HOLES A valmont Y covey Dallas, TX
BENDS ARE t 1/2 DEGREE
ALL OTHER MACHINING #0,030'7 CPD NO. DRAWN BY ENG. APPROVAL PART NO. @
ALL OTHER ASSEMBLY (% 0.060") -
A _|REVISED LEG POSITION | [CEK] 4/11/2016 ¢ 4 CEK  3/30/2016 MEP1012-6LH44R5 Q g‘%
REV | DESCRIPTION OF REVISIONS | cPpo [ BY | DATE | i INTHIS DRAWING vamonr |CEASS| SUB | DRAWING USAGE CHECKED BY DWG. NO. o
REVISION HISTORY T A A TRAD SECRET. o |81 ]01 CUSTOMER BMC  4/7/2016 MEP1012-6LH44R5




